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Q. No. :ii8 Q. No. W:iF8 Q. No. A EH Q. No. F:EE Q. No. -GES Q. No. [:ViE8 Q. No. A8 Q. No. iYiES
1 4 26 3 51 1 76 3 101 1 126 3 151 4 176 2
2 1 27 4 52 4 77 2 102 4 127 4 152 2 177 1
3 3 28 1 53 4 78 1 103 4 128 2 153 1 178 2
4 2 29 2 54 3 79 3 104 3 129 3 154 1 179 2
5 4 30 1 55 1 80 2 105 3 130 4 155 2 180 2
6 2 31 4 56 1 81 1 106 1 131 3 156 1 181 4
7 3 32 2 57 1 82 3 107 1 132 2 157 1 182 2
8 3 33 2 58 3 83 4 108 1 133 1 158 3 183 2
9 3 34 4 59 2 84 2 109 1 134 4 159 3 184 4
10 3 35 3 60 4 85 3 110 1 135 4 160 4 185 4
11 2 36 3 61 3 86 3 112 3 136 4 161 4 186 3
12 4 37 4 62 2 87 2 112 1 137 4 162 4 187 4
13 3 38 2 63 2 88 2 113 3 138 3 163 4 188 1
14 4 39 4 64 2 89 4 124 4 139 3 164 2 189 1
15 2 40 4 65 3 90 3 115 2 140 2 165 1 190 3
16 1 41 4 66 3 91 3 116 1 141 4 166 1 191 2
17 1 42 4 67 3 92 3 117 1 142 1 167 1 192 3
18 4 43 1 68 3 93 3 118 4 143 4 168 3 193 3
19 3 44 4 69 3 94 2 119 3 144 4 169 3 194 2
20 3 45 3 70 4 95 4 120 1 145 1 170 4 195 2
21 1 46 4 71 4 96 4 121 2 146 1 171 2 196 3
22 2 47 4 72 2 97 3 122 2 147 1 172 4 197 1
23 3 48 1 73 3 98 2 123 3 148 4 173 1 198 1
24 4 49 2 74 1 99 4 124 2 149 3 174 3 199 2
25 4 50 4 75 3 100 3 125 1 150 3 175 4 200 3
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| S
| J . l“h'\':ki_rﬁ . Section-A (Q- No. 1 to 35) ]
1 A bob is whirled in a horizontal plane by means s IF e is the velocity of lightiin free spac
| of a string with an initial speed of @ pm. The statements abhout photon among u‘l‘.thg ‘
| tension in the string i« 7211 “PC"" becomes 2 e - rn“::e“ |
\\l"ill." keeping the same radius. the tension in the A. Theencrgy of aphotonis [ = |
| string becomes ¢ B. The velocity of a photon is .('- i |
?‘ e -
‘ M - ) J:_?' C. e momentum of a photon I’ |
| - o
Gy 7 @) AT . In a photon-electron collisj R |
| energy and total momentum -?rn Ty |
T ' c
| : A horipontai foroe A S el T !;, Photon possesses positive ch;.,.ﬂcnnqervc; |
\ <hown in figure, The mass of blocks A and B arc Choose the correctanswer from the o 0:
2z k{: and 3 ke. respectively. The blocks slide over below:s i Bive, |
| a frictionless s-'llrﬁice. The force exerted by block (1) A,CandDonly |
| on block B i (2) A, B.DandEonly
(3) AandB only |
‘ ~=10N -"1 ;}Eg (4) A, B, C and D Only ‘
‘ s s .‘J/g/fllff i 7 . ‘
7 6 The output (¥) of the gi i
‘ - given logic .
\ :_,: & (2) 10N to the output of an/a : B21e is Similay |
3) =zero 4) 4N
| ’ { |
A
\ 3 The maximum clongation of a steel wire of 1 m = " ‘
| ::nﬁth[ if the elastic limit of steel and its Young’s ’ |
odulus. respectively, a 8 T
| i vy, are 8 = 10 N m—2 and (1) OR gate (2) AND gate |
| il o o (3) NAND gate (4) NOR gate \
(3) 4mm 4 i
| (4) 0.4 mm 7 gi?:l:l:;g?:]:hc following statements A and B an |
| ‘ e correct answer : |
4 : :
| :::a::;;-nform magnetic field 0f 0.049 T, a magnetic I
e performs 20 complete oscillations in |
‘ 5 seconds as shown. The moment of inertia ofthe
needle is 9.8 » 1076 kg m2. If the magnitude of ‘
| magnetic moment of the needle is x * 10-5 AmZ; |
then the value of “x” is : ' A }
| : ; [ or a solar-cell, the 1-V characteristics lie: |
| < in the IV quadrant of the given graph. ‘
- +In a reverse 'ihiascd pn junction diode, the
| current measured in (uA), isdue to majority |
| charge carriers.
&1 sl m Bmh A and B are correct. |
‘ o ) “(THI A and B are incorrect. |
N . o @ 12872 3) A is correct but B is incorrect. \
Sy — e i ] (4) A is incorrect but B is correct.
| _ & TR |
2 e
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L -_ = —
| - - - - - — — — — — — — — — — —
| lmﬁv.mdymll‘llic system is taken through the Z
_ J\-.;Il.‘ abeda. The work done by the gas along the 13 = 2 -— ) . v
| Pooeys peist v.
| - 5 |
A B on c Ip
\ Solenoid-1 s, (p  Soleroid-2 \
| In the above didgtd, a strong har magnet is ‘
moving towards sofetioid-2 from solenoid-1. The
| direction of induced &brrent in solenoid-1 and that |
‘ in solenoid-2, redpéctively, are through the |
directions:
| (1) ABandCD  (2) BAand DC |
| A thin flat circular disc of radius 4.5 cm is placed (3) ABand DC (4) BAand CD ‘ |
b gently over the surface afivater. IFsurface tension o
| of water is 0.07 Nm-Yahen the excess force co o |
‘ roquired 10 ‘;kc . m\'ai\é%m;gﬂ;: surface is : 14  Inanideal transfongg’.r. the turns ratio is N =3 ‘
" 1.98 m s
| (3 19.8 mN & 198 N The ratio V: VP iQQquaI to (the symbols carry |
: - i g anin
| Atany jnstant of time IQHQ displacement of any thele u5:u1l Lasan 2) 1:4 |
| L article is given by 2F—1 (SI unit) under the (1 1:1 ’ ‘
influence of force of 5N. The value of 3) 1:2 @ 2:1
\ jnstantaneous power is (in SI unit): |
: @
‘ m 7 @ 6 o i 4 |
(3) 10 @ > Th h whicl ws the variation of "?J
| O 15 e graph which sho 22 ‘
= (=2 F .
| i g?([\- i _L+_—p i Pt} and its kinetic energyy £ is.(where A isde Broglie |
‘ In the nuclear emissiomstated above, the mass wavelength of a fres,particle) : ’ |
aumber and atomic nymber of the product QO r~
| respectively, are : ) 1 B Il \
(®) 288,82 (2) 286,81 (1) 37 - 2 a2
| (3) 280,81 (4) 286, 80 T: Eg s \
o]
| 12 A light ray enters through,a right angled prism at e |
| point P with the angle ofincidence 30° as shown _ o)) |
in figure. It travels throfigh the prism parallel to 1 P o) 1
‘ its base BC and emerges along the face AC. The 3 7 . @ 7 |
% N
| refractive index of the prism is:_ - 1‘0 P 1(; = |
\ ; |
16 If the monochromatic source in Young's double
| lit experiment is replaced by white light, then |
| o0 . (1) there will central bright white fringe |
| J‘_,‘? wJ No R surrounded few coloured fringes. |
M = @ 22 @) all bright fringgs will be of equal width.
‘ & 0 (3) interference pajtern will disappear. \
| (3) ¥s. o) fs_ ’ (4) * there will be Lepntral dark fringe surrounded [
e ;. ~ 2 by a few coldured fringes. |
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17 Giiven below are two statements: one is labelled 21 A 'l'l}!,f(..‘ cireuit provides the out it ¥
‘ ns Assertion A and the other is labelled asg following truth table - I as per the
Reason R,
| Assertion A The potential (17) at any axinl point, 1
| at 2 m distanee(o) from the centre of the dipole
»
of dipole moment vector ol magnitude,
y : 7
‘ 4~ 10°Cm, is +9%10" 1",
| (Tke 3 ' av10? ST units) I""“‘ expression for the output Yis ;
nEn h 5 =4
| @
2P —
‘ Reason R @ I'=4 . 5« where r is the () amsi (9 4B+q
dneg r- :
| distance of any axial point situated at 2 m from 22 A thin spherical shel] is Chflrgcil by
the centre of the dipole, The potential difference hclwccn{ﬁ b som:ce.
‘ In the light of the above statements, choose the Cand P (in 1) shown in the figure i-::- e points
| correct answer from the options given below: | iy
(1) Aistrue but R is false. (Take =9x10? ST uni
. : s dne Sl units)
| (2)  Ais false but R s true. 0
(3) Both A and R arc true and R is the correct
| explanation of A.
(4) Boith A and R are true and R is NOT the
‘ correct explanation of A,
| I8  Two bodies A and B of same mass undergo
| completely inclastic one dimensional collision.
The body A moves with velocity v, while body B golpc
is at rest before collision. The velocity of the 1
NN 0.5 = 103
system afier collision is vy. The ratio v 1 vy is : ,({3; 3 x ")]50 (2) zero «
\ (1) 4:1 (2) 1:4 @ 1x10
((3) 12 4) 2:1 -
‘ 23 Given below are two statements -
19 Inthe following circuit, the equivalent capacitance | Statement I : Atoms are electrically neutral as
\ between terminal A and terminal 8 is : they contain equal number of positive and
zl,l,y 1#,- ncgative charges.
it e Tt Statement IT : Atoms of each element are stable
| A 2uF B and emit their characteristic spectrum.
zpF‘_——Liz — In the light of the above statements, choose the
| nF mast appropriafe answer from the options given
| B osur (2) 4prF below :
(3) 2pr @) 1ur (1) Statement | is correct but Statement Il is
| . A _ incorrect.
20 The quant:lmsvwhlch have the same dimensions (2) Statement | is incorrect but Statement Il is
| as those of solid angle are : P —_—
| (;) 5‘":"; :m.d .frfl P (3) Both Statement | and Statement LI are
L Emliripei sl coner
‘ E_ﬁ :‘:Z;: and auzlc (4) Both Statement | and Statement |l are
incorrect.
|
TﬁfffTE_EE:“-i“L;fififfif“ffffffffffLCO“Jd--; _
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| pist ] with List IL
‘ bqn"" ) List 11 27 A wire of length *I° and resistance 100 €) 1S
| |,i5" 2 of Wav : divided into 10 equal parts. The first 5 parts are
| i j Lines (Wavelengths (nm)) conneeted in series while the next 5 parts are
connected in parallel. The two comhinations are

1
apt€ on for ;
again connected in series. The resistance of this

| L
""‘dﬂ'ﬁnn-‘ from)
sl final combination is:
| W@ am=2 1. 4102 .
‘ m T (1) 55Q (2) 600
M )
‘ " ~4om=s " ?‘“ () 260 (4) 520
. M
' c1om=2 . 656.3 , via
| . o m=" 28 The terminal voltage of the battery, whose emiis
¢ ’
‘ " —Gtom =2 1V, 486.1 101 and internal resistance 1¢2. when c”"nc[‘"cd
5 =
- correct answer from the options given through an external resistance of 4 1 as shown

in the figure is:

Choose the

‘ L.
SJow -
\ '“; A-IV. B-N1. C-1. D-11
“1, A1, B-1l, C-IL DIV
| @ B, CIV. DN

3
@ 11V, C-11, D-1

\ ALt
@ "
\
oV
n (H 8V @) 1
| ; "-_‘-sssin[m' +—5-)m represents the motion of a 3) 4V @ 6V
| P o] executing simple harmonic moti th
ricle exce e ! on, the - l . 2 . =
| amplitude and time period of motion, respectively, 29 A pamcl.c moving with uniform speed ina circular
£ s path maintains s

e i i leration.

| () 5em. 1s (2) 5mls () cons!ant vclmfxty but vary_mg accel era .| n
4) 5m,2s (2) varying velocity and varying acceleration.
(3) constant velocity.

| 3 5cm,2s
(4) constant acceleration.

| Match List-I with List-IL

2 )
| List-1 s S 30 A tightly wound 100 turns coil of radius
‘ (Material) (Susceptibility (X)) 10 cm carries a current of 7A. The magnitude of
‘ A. Diamagnetic 1. x=0 the magnetic ficld at the centre of the coil is (Take
omagnetic n o>x=-l permeability of free space as 4w x 107 Slunits):
| B. Ferromagn X
, (1) 4.4mT (2) 44T
¢ t 111 >
| C. Paramagnetic yx>>1 (3) 44mT (4) 44T
D. Non-magnetic IV. O0<y <E(a small :
| positive number) 31 In a vernier calipers, (V + 1) divisions of vernier
‘ Choose the correct answer from the options given . scale coincide with & divisions of main scale. If
below: 1 MSD represents 0.1 mm, the vernier constant
| (1) AL, B-1I, C-1, D-IV (in em) is :
| (2) A-1V, B-II1, C-11, D-I 1) 100N (2 10W+h
@ A-ll, B-11I, C-1V, D-1 1 |
, ’ ) 3
| 4) A-1L, B, C-IL, DIV : RTYY @ 100(N +1)
|
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32 Anunpolarised light beam strikes plass surface
‘ at Brewster's angle. Then
both the reflected and refincted light w ill be
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[ I"in_\-si-:_s : g(‘(‘?i_(in_;-iﬁ{'j Ny

36 Choose the correet cirenit \\-hw

. ic
bridge balance. h can ag

(h
completels |*-‘|t\{i“l‘i|-
‘ (2) the reflected dfpht will be completely
polarised but the refracted light will he
| partially polarisey.
(3) the reflected lightswill be partially polarise,
) th rc1‘r=1“““{L.1..'_"” will be completely
| polarised.
| 1
33 The mass of a plancCi3 70 M that of the carth and
.. X 37 Aparalle| itori
its diameter is halfi that of the earth. The it para ¢! plate capacitor is d‘é&c(”’ymnn
| acecleration due to gravity on that planet is : ;“',T,: hfrlﬂc?r I:Imugh a resisioy IFf is the C:‘:ﬁ
_ circuit, then in the i
o ~2 3 " — . gap ween
\ (1} 4Ims . ?\?{“] 3.92m 52 (1) displacement current o gni[,,:]:eem'"e
(3) 19.6ms— F“H) 98ms2 l‘ﬂuws in a direction opfpdsite to Iha?w
(2) displacement current of magnitude ofl
_ ) than I flows but can be irany direcs:
| 4 A \\hc_d_ Of:.l bullock cart is rolling on a level (3) there is no current, ¥ irection,
‘ mndda:s s!u.‘l“r;‘ in !.lg‘:]f.'lgurc below. If its linear (4) displacement currentofmagnitudcequ |
speed is v in the '(“IIELC)‘IOI) shown, which one of I flows in the same diregtion as I, 3
the following optionsds correct (P and ©Q are any
h:ghcs_t am:‘i; low%‘ points on the wheel, 38 Th? following graph representsithe T-V curves,
| respectively)? = _ an ideal gas (where T is the ‘T mperature ang
= the vclume? at three press Iy, P, and p
| compared with those of Charle’s law re
b . Presente
as dotted lines. o
v r-\‘
P,
—-—»’ . r P
- 2
A
| [ee) 0 Z//’/ ) -
=0 | =
\ w N s co
) . S R
(1) Both the poinf® P and O move w
e po o o ith equal Then the correct relation is: O
| @ Pointh ]:asze%peed. () A>R>n @) A>R
| (3) Point P moves slower than point O Q) Brn>H @ feh>h
(4) Point P moves faster than point Q. 39  If the mass of the bob in a simple pendulum is

‘ 35 The moment of ine%} of a thin rod about an axis
passing through its T id point and perpendicular
| to the rod is 2400 ggnz. The length of the 400 g

rod is nearly :

(1) 20.7em g (2) 72.0cm
| ’ (3) 85cm I~4) 17.5¢m
\ T5_English | 6
T - - - - — . - - - - - - - = = = —

NEET ACHIEVER BATCH
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increased to thrice its original mass and its length
is made half its original Ieng&b then the new time
period of oscillation is ':— tiftes its original time
period. Then the value o—f.r I8

(1) 2v3 (2) 40

(3) V3 “) {
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caters
hed A and B have 5
ower
ra

| e LW,
\ j ant 2 kW. respective i
1 o inser Iv. ling of
| on """I“‘d 'j‘ series and the ] hose l\xu’- of 1 kW | 4
Rne i . The rat; i N parg ! irs
~ T ~.\1LII:LL‘ Tt atio nin paralle are lirsy 4 A m
| cases IS8 of powe cltoa fix ctallic by
\ o routputs fo ;““1 0.5« 10" N bar of Y
| Tthese c g m 2 and oung’s
" 5 C Xpan . and cocfTicic modul
| i) (2y 2:3 L‘l‘(\‘-q_::"‘.‘ g yerc-1 s ! “f“"'“-'-'lft'hc-ln'“-
‘ ¢ 4y 2.9 with cction 10 1 m? i" ILn'“”l I m and ar "":'
< vithout expansi s heated fre g
" yJates il force dev -Ip‘““".n or bendin ey 07 ko FOO0EK
| prehe P esolaparallel pla cloped in it is g- The compressi
JUPREL pattery are moved Cll: e capacitor ¢ (1y 100 - 10'N i ssive
. se 1o eac onnecte ) (2 :
‘ A the charge stored i il:‘ cach other, ":'l:::f (3) s~10'N “J 2- 109N
o m T crease 4) 50~ .
‘ B. the cnETEy stored in i Cs, 10'N
"L capaci it. decre;
g WS capacitance increase _‘HL"“‘S. . The minir
| D the rati f Casces, of num energy requi
: o ratio of charg : mass m o juired to la i
| (he same. ge 10 its potenti and radius ru'm the surface of unch a satellite
ial remai jus M In a circ carth of mas
- 1 i nains 2R a circular orbit ; ass M
g the product of ch from the surf: rbit at an alti
‘ y e arge and volt A ace of the carth is: Sliade of
Choos¢ the most ap . age increas 7 '
; e propriate reases GmM
| ptions given bel priate answ : (n = ;
¢ E ow: swer from tl 2R i
| " B. D and E only (2) the @ IR
B y (=) A,B
@ A-B and E only + B and C only 5GmM
‘ ) s Gl B et @ 26
* nd E only 6R & E it
> only
| I A <mall telescope ; R
140 cm and an I:‘::ﬂsi?n Ob-i.‘-‘cti\'c of focal 46
| The magnif\-ing'pmr:_;::;'?: focal [c“ilth‘ Slgnglh A 10 pF capacitoris conn
2 e gth 5.0 cm. 50 ect
‘ a distant object 1s: elescope for viewing ke s shovn irf figure _‘:_‘]::03210 it o
m 17 9y 3 the circuit is ne ' peak current in
\ G) 34 ). 32 arly (x=3.14):
| (4) 28 1=
T+ I—_
1 A : C=
| £ ofzh:ft is placed on a horizontal surface i i
rong magnetic pole. A fore e = front
\ A hold the sheet there if i ¢ is needed to 21
B. hold the sl erc i itis magnetic. UGS
+ c 1 - 5 *
‘ il sheet there if it is non-magneti (1) 1204
| sy 1e sheet away from th ic. = . (@) 0354
D orm velocity if it is cond e' pole with (3) 0584 l
| _ move the sheet away fi ucting. (4) 0934
. o a r
uniform velocity ifi ) rom the pole with 47 :
‘ and y ifitis both Ani -
Ch non-polar. *“0“-C0nducting Iti ron bar of length L has m:
| Io05E the correct state is bent at the middl 42 agnetic moment M.
give b df'—“wnt{ two e of its ! .
: n below: s) from the options arms make an angle 60° ength such that the
| - magneti _ with eac .
‘ ,’] A, Cand D only gnetic moment of this new cach .Other' The
‘ {“) C only - ‘agﬂct 15
(3) Band Donly (H 2™ @ M
‘ 4) AandC only ﬁ
__ __T5Eng); )
T TEllg[lsh_} . 2 (€] M
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48 The clocity (v) - time (1) plot of the motion of a

body is shown below ¢

0
0
()

5vimr)

e () —

(e )
The acceleration té) — time () graph that best suits
this motion is :

=

£ e
1~}
™0,

sa(msT)

M ) t1(s)—>

s
7
Salnr)

-~
T
—
-a
(=]

r(s) —>

49  The property wiiich is not of an electromagnetic
wave travelling{in free space is that :
o
r 1
(1) they travel with a speed equal to \/EoTo 2

(2) they originate from charges moving with
uniform spéed.
(3) they are transverse in nature.
ensity in electric field is equal
sity in magnetic field.

@ the energ
to energy

ts__

50 A forcedefined by’ F =ar? + [t actsona particle
at a given E‘gu. {. The factor which is
dimensionlessgjf & and 3 are constants, is:

NEET 2024
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Chemistry * So_i_-_tihi_—i\ (@ﬁm
i - —_h“m-._ﬁ\}a\.

=1 In which of the following prn‘:c“t %

increases? 4 "y

A. A liguid evaporates (o vapour.

. |-cmn£‘r:1n|rc:_»ﬂrn crystalline .

from 130 K to 0 K.
. 2 NaHC O3} NayCOy, + Coy
. Clyg »2 (‘Ej

]
. nswer from .
Choose the correg 5 the opy; i

hq

I
iy

2 t l|

helow:

r-\.
(n A.C and D
(3) A and C

(2) Candp
(4) A.Rnndb

52 On heating, somﬁﬂlid -‘i_lfbﬁtanceﬁ chan
solid to vapourigiate without passj, 3::
liquid state. The re{chniquc Used ro’ﬂ
purification of sugh solid substances ba%d;
above principle js known as
(1) Distillatiori™~
(2) Chromatography
(3) Crystallization
(4) Sublimatiofi®

o
53 Identify the correct reagents that woy|g br
about the followéﬂg transformation,

O—cng—t:kf:\;_jcun—r
O_c:-lz—cnz-cuu
(1) () BH3 g
(=]
(ii) Hzozt%H
i) alk. Kgno_,
(Giv) H0%N
@ O Hzo/f—l\’f
(i) pccC
(3) () HoM*
(i) CrO:
4) () BH3(n

=]
(i) Hgo;—:,g OH

' o
M apt & @ “%
8]
@ P/ ﬁ @
T5_English | } 8

Gii) Pccﬁ
[ Contd-

Get Scholarship on the basis of NEET 2024 Marks

NEET ACHIEVER BATCH

(For Class 12th Pass)

Starting from : 13th & 29th May 2024

Fee After Scholarship Fee After Scholarship
NEET Marks for Offline Classroom for Online Live Classroom

e | 700 ONLINE LIVE
501-550 43,500 FREE
451-500 58,000 Spin the wheel
401-450 65,250 and gSet upto
301-400 72,500 65% Scholarship
201-300 87,000
151-200 1,01,500
101-150 1,16000

Below 100 | Free MOST Exam Scan QR Code




Code wise
Answer Key

‘ of an electron i
en® e in the ground
‘ T": n o He'ion ls;x J.then that fnrnnck::;lm
J (" g statc for Be? E?{- inlis: =

| i’
4
4x &j g

| " (o))
+ R
| ¥
| ‘{,frh List 1 with List 11,
| £ Y C(j1 List 11
| tl\"ﬂﬁ'“'ﬂ ﬂ{%‘.’“hr and types of
band/s between two

| carbion atoms)
| . ethane l,r(:'f one g-bond and
| two m-bonds

o cthene 1. two xn-bonds
| ¢, carbon gy one o -bond
| molecule. C o
‘ " cthyne [g one o -bond and

gryone T -bond
m the options given

| Choose the correct answer fro
| pelow:
(1) AL B-IV, C-11, D-I
| @ Al B-1V, C-l. DI
() A-LB-IV, c-l1, DA
| @ AV, B-IIL, C-Il,%l
h
= +C,Ku=4>«|0'3.mu

§ Forthe reaction 2A
n mixture

\
| given time, the compot}ilion of reactio
is: [A]=[B]=[C] —2x107°M.

| Then, which of the following is correet?

(1) Reaction has a tepgency 10 £0 in backward

% direction. ;
| @ i =
) Reaction has gong4q comP
| direction.
3 o0
| (3) Reaction is at equilibrium.
(4) Reaction has a tdndency 10 £° in forward

letion in forward

57

58

59

direction.

- — —TiE'lzusth -

NEET ACHIEVER BATCH

| (For Class 12th Pass)
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Mt couple is more
1 Fel! due

The E° value for the Mn'
positive than that of ce't et or Fe
1o changre of
(M dtod L'nt'lﬁulrf.ﬂgd

]
(3)
()
(4

ditod’ crmﬁcnr;mll(;':
At o d! confignration

d5tod? eon fignrat N
A

ow are twa 4¢:|‘cmcl1rs

[he hoiling point nf hy
"l“‘i‘fhl’.‘ order

s
HES;.
(N #)
is of molecular mMass.
P\w:r hoiling point than
- but due to the

: grnnp
ponding N H40. it has

Giiven bel
drides of

Statement I ¢
Ciroup 16 elements fo

1,0 > HyTe > HhSe ”

On the B

Statement 112
H,0is expected to have
the other members of 1
presence of extensive E
higher boiling point.

ght of the above
r from the

ents. choose the

statem
n below:

In the li ! !
correct answe options gIve
(1 Statement I is true
(2) Statement 1is falscbut

ment | afdStateme

8 spatement 11 is false.
Tyt Statement 11 is true.

nt Il are true.

(3) Both Statel
(4) Both Statement | n%}’St:uclm:m 11 are false.
Match List 1 with List 11
List I List I1
(Process) Conditions)
A. Isothermal 1. g%lo heat exchange
process \O
B. lIsochoric 11. CCarried outat
process (lonstant temperature
C. lsobaric 1. Carried out at
process constant volume
D. Adiabutic 1v. Carried out at
process th‘[anl pressure
Choose the correct answey from the options given
below: e
(1) A-l, B-11, C-11, D-tYA
@ A-1L, B-111, C-1V, DU
(3) AV, Bl C-1l, P~
@) AV, Bl c-1, D-1
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‘ A [CO(N”JL(NOZ)JCII I. Solvate
| isomerism
B, [co(n, ), (50,) [br II. Linkage

isomerism

60

1 gram of sodium hydroxide was treated with
25 mi of 0,75 M CHsolution, the mass ol sadinm
hvdroxide left unreacied is equal fo

(1) Zeromgp (2y 200mg
(3) 750mg (1) 250mp

61 Match List Iwith List 11
List 1 (Complex)

o) [Ca(?\‘Hj}ﬁJ [cr(en),]

D. [CU(H20)6]CIJ

Choose the correct

below:
(1 A

@ AL BV, ClL, Dl
() AL B-iL, G-IV, D4
@) A-LB-ILCIV, Dl

List 11 (Type of

isomerism)

[II. lonization
isomerism
IV. Coordination

isomerism

answer from the options given

-1, B-1V, C-IIT, D-ll

‘ .
62 AmongGroup 16 elements, which on¢ does NOT
| show -2 oxidation state?
| (1 Te 2) Po .
| 3) O (1) Se
| 63 The compound that will undergo Sy reaction
| with the fastest rate is
CHy
Br )
(N U (@) Br
|
| ) O/\“’ ) O- Br
|
TS_English | o

66  The highest numbe

64 Which one of the following alcohg
instantaneously with Lucas reagent? 3 re,

(1 cn,- fl‘ll -CH,OH
oy

CH

|
(2) chy [l‘ SOH

CHy

(3) Gl =€l - CHy ~CH0H
(4) cHy,-CH, - CH =0l
- |
cily

65  Match List I with List II.

List I List1y
(Conversion) (Number of
Faraday requi
A. 1 molof HyO 0 Oy I. 3F <
B. 1 molof MnOy to I. 2F
Mn2* ;
C. l.5molofCa from 1. IF

molten CaCl,

D. 1 mol of FeO to Fe;0s V. 5F
Choose the correct answer from the options giy
below: )

(1) A-Il, B, C-I, D-IV
(2) A-lIL B-1V, C-I, D-1
(3) AL B-1V, C-1, D-111
(4) A-IIL, B-1V, C-1, D-I -

r of helium atoms is in

(1) 4g of helium -
(2) 2271098 L of helium at STP
3) 4 mol of helium

(4) 4uof helium

netic moment is same for whi

*Spin only’ mag
of the following ions? 5
A, Tt B. Cr
C . Mn2* p. Fe*
i+
ke answer from !

Choose the most appropriate
options given below:

(1 B and C only

(2) AandD only

(3) B and D only

4) A and E only

I (‘onld-
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o8

r,nnnlcclllnr hvdrogen bonding is present in
5 3

mnt
SN0,
)
" , -
( O
HO
{ﬂ) ||I- 0
~ N0,
o [ =
3 Q\.m
‘g‘,Nl\‘.

Q0

(4) HO”
W . i
Fehling’s _\r.u!_ulmn ;\_ is ) ‘ ‘
(O alkaline solution of sodium potassium
tm'h'a‘l:‘ (Rochelle’s salt)
[ |

(2) aguepus sodium citrate

(3)
4

aqueous copper sulphate
alkaline copper sulphate

2 R :
Match Lis{iw:lh List 11.
hoand
List1 :
Quantum P\;I;!l;!"l.bcr

List 11
Information provided
I.  shape of orbital

A. Ty (aw]

B. Mg o~ II. size of orbital

c. ! r—- III. orientation of
orbital

D. n IV. orientation of spin
of electron

Choose thgglarrect answer from the options given
below: g
@ A-LB-IV, C-11, D-I
() AL B C-1V, D1l
() A-L Bl C-II, D-IV
4) A-NIFB-1V, C-1, D-11

Arrange the following elements in increasing
order of firr‘ﬁ(s ionization enthalpy:

Li. Be, C, N

Choose the cprrect answer from the options given
below: >

(1) Li<§5<C<BcN
(2) Li<Bg<N<B<C
(#) Li<Be<B<C=<N
(4) Li<B<Be<C=<N

T5_English |

NEET ACHIEVER BATCH

| (For Class 12th Pass)
Starting from : 13th & 29th May 2024

72

73

74

Which plot of In k vs —!—

Arrhenins equationf ¥

P

£
0y 2L2 o (2)
Fo o
-
=" 3
= rr
(3 = A s
— i ,‘l}(_}
! O

-
()

Code wise
Answer Key

1 contistent with

LY

| nk

Arrange the followipg elements in increasimg

order of clectronegatjvity:

Choose the correct answer from the options given

N, O, F, C, Si[~__
below:

(1) O<F=<N=C=Si
() F=O<N=C=ZSj
(3) Si<C=<N<=0OxF
(4) Si<C=<O<NXxF

()

Match List I with IZist I1.
List I (Reaction) M
™~

A OXO—2( 0
0
o €6
O
. O~ T
C. O/DH_’Uﬁ
~

D: @,CIIICI[_;_’

»

@/COO!\ 0

w

List Il (Reagents/
Condition)

L
L et

Anhyd.AICI;

. CrO;

HI. KMnO,/

KOH. A
(1) O,

(i) Zn-H,0O

we] . .
Choose the correct angwer from the options given
s

below:

® A-lV, B-I.C‘--’\ i1
(2) A-l, B-1V, C- 1

(3) A-1V, B-1, C-llL D-11
(4)  A-IIL B-1, C-11, D-1V
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Given below are two statements .

| 75 Given below are two stafements: B 79 ‘
Stafenigun Pe Anilige doos ot WD e Statement I: Both [(.'H[NJ{_\) 1 ‘ i,
| Crafis alky Iation reaction, L (N d "
Statement Tz Aniline cannot be prepared through complexes nrc.ocrnhctlml but difpg, .
sabriel ssnthesis, netic hehaviour, in
‘ ;"""“'L:'-“!':}" of the above statements, choose the s I l
corpeer answer (rom the options p:‘i\ en below: stitoment T !’(‘U(N”})ﬁ/‘l i
(1) Statement | is correct but Statement 1118 ] ""‘ah
Lo i hereas [('{:l" F is paramagnetijc
(2) Statement | is incorrect but Statement 11 is whereas | CoF )
tre. In the light of the above statements, i
‘ (3) Both Statement I and Statement 1 are Eruc. correct answer from the options Sive
‘ (4) Both Statement I and Statement 1 are false. (1) Statement  Fs-teve bt Sfﬂ!t‘mm” lon,
& o 5 is
) i . . g e (2) Statement I is false but Statemen ), .
| 76 In which of 1!1;:,lonm\-urg equilibria, K, and K, &) Both Spasmriiail Vel Stktemopg ”a[ ey
s NOT eqps th Statement [ and Statem et
(1) €O+ M2O = COxgy + Hag (4) Both Ml are
- -~ ~ — % + 1 T )
(2) 2BrClg = Bryg Cl‘ 2(e) 80  Activation energy of any chemical reacy;
(3) PClg = PClygy + Clag be calculated if one knows the value of '
(4) Hyg +h = 2 Hlg) (1) orientation of reactant molecyleg du;
r collision. I
i i X n . &
\ 27 Themost stable carbocation among the following (2) rate constant at two different wmpﬂf&tun
\ is: (3) rate constant at sla.nflard temperatyre
‘ M 0EH3 (4) probability of collision.
CH; 81 A compound with a molecular formuly of C
has two tertiary carbons. Its IUPAC name js.
@ (1) 2.3-dimethylbutane
| (2) 2,2-dimethylbutane
\ Hs (3) n-hexane
| 3 HaCAgH CH; © (4) 2-methylpentane
| P I Match List I with List IL.
CH i List II
(@) /S\CH ~ i List I ‘
- 2 QI (Compound) (Shape/geometry)
A. NH; L Sl'rtgona}!l:ﬁ;mldﬂ
| 78 - The reagents with which glucose does not react B. BrF; 1L 0?, :aa;edml
to give the corresponding tests/products are C. XeF, 111 ahe -~
| A. Tollen’s reagent D. SF; _ IV. Square P}tan |
‘ B.  Schiff’s reagent Choose the correct answer from the options g
£ PELN below:
\ D. NH,0H (1) A-Ill, B-IV, C-1, D-II
Chometien 2) A-ll, B-1lI, C-1V, D-I
Choose the correct options from the given below: (2) A=lh ? D "
(1) BandE (2) Eand D (3) A-lL B-l1V, C-ll, D-
(3) BandC (4) AandD (4) A-II, B-1V, C-l1l, D-1

| TS5_English |
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‘ Chemistry @ Section-13 (. No. 86 1o 100) 1
The Henry's law constant (Kyp) values of three 86 The rate of a reaction quadruples when
‘ » ses {"\' . L‘) in water are 11‘;. 2«10 5 and TI'ITI|!V|:ITII!||' chanpes fr<|1n- 27°C s ST70(
| 35 kbar. respectively. The solubility of these pases $ I:_‘h Yhkren ".:"".Im. “.1 " “.-.:m“" _
. water follow the order: Ciiven It U4 T K mol ' log 4 = 0.n02)
‘ o 1y 180 Kkmol
‘ (N A>C>0B (2 A=B=>=C o IR0 L mol
3) B=>A=C (D B=>C=A (3) 38.01 kVmaol
| ’ (1) 380.4 kKl/mol
‘ . .
Which reaction is NOT a redox reaction? w7 ( 'li'lll‘iltkllff ”.Ic following reaction in a scaled vessel
| s at equilibrivm with concentrations of
| (1 Hs +Cly — 2 HCI N, = 3.0 ~ 10 1Nf.”_, = 4,2 # 1003 M and
= 2 3
| (2) BaCly + Na,SO, —> BaSO, + 2 NaCl NO=2.8 = 107 M.
INO =N + 0
| (3) Zn+CuSO, = ZnSO, + Cu NOwy ™= M2t} “2(s)
0.1 mol L' of NO,, is taken in a closed vessel.
| () 2RCIAs v 1= ZRIO+CL i i ‘ﬁr iation () of NO
’ what will be degree of dissociation (@) of NO,,
‘ at cquilihrillm?
gs  Given below are two statements: (1) 0.8889 (2) 0.717
| ' : (3) 0.00889 (4) 0.0889
| Statement I : The boiling point of three isomeric -
| pentanes Rl et 88 During the prcparatinn of Mohr's salt solution
i o i ‘ 5 ich of the
n-pentane > isopentane > neopentane (Ferrous ammonitii S"‘ph“'_:_} ‘;h:;' IU-' ) ‘;
| following acid is added to prevent hydrolysis o
Statement Il : When branching increases, the Fe2t jon?
| molecule attains a shape of sphere. This results (1) dilute nitric acid
| in smaller surface area for contact, due to which @) dilute sulphuric acid
‘ the intermolecular forces between the spherical (3) .dilute hydrochloric acid
molecules are weak, thereby lowering the boiling (4) concentrated sulphuric acid
| : ;
point. - .
| 89 A compound X contains 32% of A, 20% of B and
In the light of Lhc_abovc statements, choose the remaining percentage of C. Then, the empirical
| most appropriate answer from the options given formula of X is *
‘ below: (Given atomic masses of A=64: B=40:C=32u)
. . AB,C, (2) ABC,
1) Statement | is correct but Statement II is 22 -
| | (3) A,BC, (4) ABC,
incorrect. 272 3
‘ H - -
| (2) Statement | is incorrect but Statement I1is | 90 The pair of lanthanoid ions which are diamagnetic
correct. is
| S " ; (1 Gd3* and Eu?*
state and £ 2 ecorrect.
(3) Both Statement | and Statement [Tar ) Pm* and Sm3*
| (4) Both Statement [ and Statement Il are (3) Ce'*and Yb2*
‘ incorrect. (4) Ce3* and Eu?*
| T5_English | 13 | Contd...
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The products A and B obtained iy the

01 Maior products A and B formed in the following | 94 ; R P
rm:'tlin:: sequence, are reactions, respegpively. are Y
o IRON + PClLy pARCTEA
i O o ROIT ¢+ p(_'f.‘ r[ T+ HCI+B
= "_H'E_&.L; A MeROH 4 “-‘P“"""q.‘}:’o({f"
N (major) A (major) (2) 3P0y and BOCIy
QQ (3) POCI andc bR PO
o (N ol (4) POCI; and Hy POy
H; L [ LS : '
(14— . - .
A B ! 95 FFor the given reaction:
OO = . MnC JHT it
m X 6 { )—c=cu tﬁ ALV
OH ; | (major

(2)

3¢ i e
A= Q u-
(@)
QO
B
H;C i N H,C
O e ™~ \©

3=
Br
H;C foa) H;C
“4) A= o] B= \O
O
o)

The plot of asmotic ptessure (I1) vs conce'mrati'on
(mol L~1) for a solutidn gives a straight line with
slope 25.73 L bar mot=!. The temperature atwhich
the osmotic pressure measurement is done is:

(Use R = 0.083 L bar mol-' K1)
(1) 25.73°C o0 (2) 12.05°C
@) 37°C o (@) 310°C
- O
Given below are cefthin cations. Using inorganic

qualitative analysisfx:}rrange them in increasing
o VI.

group number fro

A. AP B. Cu?*

C. Ba? D. Co?*

E. Mg?*

Choose the correct gggwer from the options given
below: e

(1) EC,D,B,Ach

(@) EA,B,C,D®@

Lo
3) B,A,D,C,E
G) BN

96

97

(

(4) B,C,A,D,E

NEET ACHIEVER BATCH
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Starting from : 13th & 29th May 2024
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(1
)
3

e
o0
OH CQH

(hH O—-('?H-Péll—o

0 o
.l
@ OO
&
ey (e

@ ()—CoeH
1os)

The work don&™during reversible jso,
expansion of orf¢'mole of hydrogen ga; 4
from pressure of 20 atmosphere to [0 atmos
is:

(Given R = 2.0 cal K1 mol™!)

(1) 413.14 calbfies

(2) 100 calori

(3) 0 -calorie

4) —413.14 chidries

( .} 0

Identify the qu}:!:-r product C formed in

following reaction sequence :

NaCN
CH,~CH,=CH, -1—— A

product)

‘Pris

XB__HEC_)“——) C

Br,  (major)

_ @
OH [an)
Partial hydrol:(sdy‘

.
butanamid :
a- bromo&i!anoic acid
propylamipe,

4) butylamine

[ Cm‘lﬁ
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jSJ‘Jnglish 1

Ilir" the correet answer.
pdet™ " 5
. ole moment of NF5 is greater than that
[I) Pipd 2 .
._yﬂ‘” [3'
Three canonical forms can be drawn for
2
(2 2
-2 ion.
co3
Three resonanee structures can be drawn for
B <
3
gZOl"—‘-
] o dipole moment.
@ BF3 has non-zero dipe

rams of copper deposited by passing
rrent through a voltmeter containing
¢+ 100 seconds is:

Mass 1n £
96487 Actl
copper sulph
(Given : Molar mass of Cu: 63

1F= 96487 C)

ate solution fo

g mol~!,

1 31se (2) 0.0315g

G) 3158 (4) 0315g

Gi;'cn helow are two statements :

3+ .
statement I : [CO(NHS)E] is a homoleptic :

+ -
complex whereas [CO(NHS],;CIZ:I is a

heteroleptic complex.

3+
Statement I : Complex [CO(NH3)5 :[ has only

"
one kind of ligands but [Co(NH3)4CIZ] has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Statement | is true but Statement Il is false.
3 = =

(2) Statement I is false but Statement 11 is true.
(3) Both Statement I and Statement 11 are true.

(4) Both Statement | and Statement 11 are false.

NEET ACHIEVER BATCH

| (For Class 12th Pass)
Starting from : 13th & 29th May 2024

Ilnl_smy I S'rcli-un-;{_(_ﬁl ?*_Iu. 101 to 135) ]

101

102

103

Inhibition of Succinic dehydrogenase enzyme by

malonate is a classical example of:

(n
(2)
3)
()

Competitive inhibition
Enzyme activation
Cofactor inhibition

Feedback inhibition

Which one of the following can be explained on
the basis of Mendel’s Law of Dominance?

@

of:

A. Out of one pair of factors one is dominant
and the other is recessive.

B. Alleles do not show any expression and both
the characters appear as such in Fsy
generation.

C. Factors occur in pairs in normal diploid
plants.

D. The discrete unit controlling a particular
character is called factor.

E. The expression of only one of the parental
characters is found in a monchybrid cross.

Choose the correct answer from the options given

- below:

(1) B,CandD only

(2) A,B,C,DandE

(3) A,BandConly

A, C, D and E only

Lecithin, a small molecular weight organic
compound found in living tissues,

is an example

(1) Glycerides

(2) Carbohydrates

(€))

Amino acids

(4) Phospholipids
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MoTioN NEET 2024 \gteoteae?

Which of the fol lowing nre required for "
h

‘ 104 Match List I with List 11 109 2 o
| List 1 List 11 reaction of photosynthesis?
A. Nuocleolus myl Site of ormation A, Light
ol glyealipid i !
B. Centriole qr:fl. Orpanizntion like B Chior Ay (
‘ T the earfwhee! . GOy l'_‘g
| . Lencoplasts “{_]ll. ‘vlm for r}r':z\Nc‘ . AP 9
ribosoma / i %
: N synthesis 1. NADPI o
1. Golgi IV,  Porstoring (hoose the correct answer from the opti i
apparatus nuiricnts below: {\
‘ Choeose the correct answer from the oplions given (1) C.pand I: only
below: 0 i
| (1 A-NL BTV, C-11D-1 (2) D and Eonly : *s}
() A-L B-IL C-111.'BUV 3) A BandC {m%’ o
(3) AL B-lI C-IVID (4) B.CandDonly o
A-IL B-NI1 C-1LMAV n,
| (@ A o 5]
- i is a x . nre: i h med;
thic lowing is an example of | 0 ppe Jactose present in the growih meg;,
& Which of the follt el ) !
| Iﬂ- sctinomorphic flower? bacteria is transported to the cell by the pey;
( n Disum {2) a'i:('.\'l'f{.l'ﬂﬁf (]) Permease
‘ (3) Datura ((4) Cassia o ik
L] r g .
\ How many n:nk‘i:uh:‘;j of ATP and b;'AE:iPﬂ a'rc @ Beta-galactosidase ’?3
106 e oW e 0, fixed in the
required for every mﬁ?tcui':, of CO; () Acetylase 0
qlvin cycle? ) of o
53] ‘3 molecules of:: }}TP and 3 molecules carboxypefils
=y tor of the enzyme
| WAL FATP and 2 molecules ar | 181 Thecafaciors - ™
‘ @) 3 molecules © (1) Flavin @ ) T
NADPH TP and 3 molecules of @) Zine (4) Niacin

'13 2 molecules 0{:6

NADPH 1) lecules of :
| 4 2 molecules qué\TP and _2 mo 11z Identify the part of the seed from th;gr[?ﬁ
| NADPH (;] which is destined to form root whenthe
e ; fully erminates. )
107 Formation of interfas@lf:ular C.amblum,:;'m}:fnr . a3
developed Pamngf;)-rﬁa'cclls it P 0
| 8) Dedifferentiation” o
| (2) Maturation e
(3) Differentiation
(4) RediffErEﬂlla'[IO{IJ A
| 108 Auxin is used by gafr‘éf:lCFS to preparc m‘:d'fﬂ.’c B ®
\ lawns. But no damage is caused 1o grass as auxin C o
(1) does not affect ‘ature monocotyledonous D LY
plants. . w (9}
| @) can help in cdilldivision in grasses, (0 D o
produce growth.™ ' (1 C @ o
| (3) promotes apical dominance. “) B ~
(4) promotes abscission of mature leaves only. (3) A [ Cont
| T5_English | 16
T e
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116

_ TSFnglish]

. n;cﬂ}!." izee

coen pelow are two statements:

'\

ent T 2 Chromosomes become gradually
der light microscope during leptotene

G
gtatem
‘-isil‘l': un
stage:

: The begining of di EAe e
Gratement m:1 gnnnl:;‘i diplotene stage is

1 by (liﬂ.\'l"lltit: nni' synaptonemnl
cﬂ“‘ph"\l' LY :'f
In the light ol the above Nutl!q‘:nn:nit. choose the
correct answer {Tom the n]‘r‘tllqn-i given below:
o gratement | is true but Sjmcmvni 11 is false
(2) giatement 1 is false but-Statement 11 is tre
3) Both Statement 1 and Statement 11 are time
(4) Both Statement 1 and {Sklgwmcm 11 are Inlse
a9

The ype of conservation inwhich the threatened
species are taken out from their natural habitat
and placed in special settipgywhere they can be
pmtcctcd and given special care is called:
(n Semi-conservative mdthod
) Sustainable development
()] in-situ conservation
4 Biodiversity conscrvation

o
Given below are two staterhehts:
Statement 1 : Parcnch??na is living but
collenchyma is dead tissuett
Statement 11 G}-mnospcnl'}l\ijlack xylem vessels
but presence of xylem vessels is the characteristic
of angiosperms.
In the light of the above statements, choose the
correct answer from the op!,iEgnS given below:

(1) Statement | is true bul_.?%latement 11 is false

(2) Statement I is false but¢Statement I is true i

(3) Both Statement I and Statement Il are true
(4) Both Statement | and Statement Il are false
R 1

The equation of Vcrhulst-l’g:;il logistic growth is

d.\l s Al
dN _ m,[.ﬂ N ]
dr K *

From this equation, K indiddies:

(1) Carrying capacity 0

(2) Population density \O

(3) Intrinsic rate ofnatura'lkmcrcase
(4) Biotic potential :{;

[~

NEET ACHIEVER BATCH

| (For Class 12th Pass)
Starting from : 13th & 29th May 2024
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1.

.

118

119

120

Match List I with List 11

Code wise
Answer Key

List 1 List 11

¢ lostridium | Ethanol
hurvlicrrm

Serce haronnees () n Streptokinase
corevisioe m

Tvicheoermer \O mn Autyric acid,
¢
polvspornm
Streptococetis sp. . :
"hoose the correct nn:j\-.-c-r from the options given
i

f ; g
; v Cyclosporin-A

helow:
(1) A-IL B-1 C-v. DA
(@ A-IV. B CAED
3y A-L oL, CIEDAv
(1) AL BV, C-IIL D1
1)
Which onc of the following is
classification of fungi?
(1) Mode of spore formation
(2) Fruiting body
(3) Morphology n[‘rTycB““m
@ Mode of nutritin
o
The capacity to generate
cell of the plant is called:
(1) DifTerentiation™
(2) Somatic hybridization
(3) Totipotency
(4) Micropropagation

not a criterion for

a whole plant from any

.
Given below are t\\-‘g}tulemcnls:
Statement I : Bt toxins are insect group specific
and coded by a gene‘ery 1Ac.
Statement 11 : Bt{toxin exists as inactive
protoxin in B. thurihgiensis. However, after
ingestion by the inséct the inactive protoxin gets
converted into active form due to acidic pH of
the insect gut.
In the light of the :}bqve statements, choose the
correct answer front the options given below:
(1) Statement 1 is frie but Statement 11 is false
(2) Statement 1 is Bl"‘“ but Statement 11 is true
0) Both Statement} and Statement 11 are true
(4) ‘Bolh Statement:l and Statement 11 are false

|
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MoTtioN

121 1
| ldc N the set of correct statements:

A The Nowers of tiltisneria are colourful and
| Prodivee nectar,
B The Nowers ol waterlily are not jiatel
by warer
In most or water-pollinated species. the
| Pollen grains are protected from wetting.
‘ - Pollen prins of some hydrophytes are long
and ribbon like,
In some hydrophytes, the pollen grains are
| ) -h‘m:: :‘u‘d passively inside walter. : :
Fikonn e correct answer from the options given
wlow:
| (l:}} :: l:. D and I: only
= - CoDand E only
| {(”) C.Dand I3 only ~
AB.Cand D only

‘ 122 A transeripti :
~SETIption unit in DNA is defined primarily

by the 2 . :
i :‘- three regions in DNA and these arc with
SpPect to upstream and down stream end;

NEET 2024

Code wise
Answer Key

125 What is the fate of a Picce or.:
gene of interest which isy
organism? rnh"fe,:‘q
A. Thepicccof DNA \,, i

itself iudepeuﬂcmly?“'d b“ah

the organism, N the o e
3. It may get inlcgm[cd T %

recipient, n‘heg
C. It may multiply ang be ; t

the host DNA. '“herl-'
. The alien PiCI'.‘c of DNA .

| ;_{}D Il“ndnccr. Repressor. Structural gene
( ;} Rr‘nmotor, Slnlclumi_gcnc. Terminator
‘ . q;{::l:snor. Operator gene, Structural gene
§ ural gene, Transposons, Operator gene

123 Bulliform cells are responsible for

(': ) I ncn.:ascd photosynthesis in monocots.
| ( = ) Providing large spaces for storage of sugars.
(3)  Inward curling of leaves in monocots.

| (4)  Protecting the plant from salt stress.

124 Identify the type of flowers based on the position

part of chromosome, is oy
E. It shows ability to replicy
Choosc the correct answe, rrnme.
below: “"un
(1) BandConly
(2) AandE only
(3) A and Bonly
(4) D andE only 0

126 Tropical regions show greae
richness because

A.

S5t l“e’ -

Tropical latitudes haye rema;
undistul:bl:d for milljong of‘n '
n!m‘e.tlmt? was avai]ahle};
diversification. i
Tropical environments are More
More solar energy is available j,

of calyx. corolla and androecium with respect to
| the ovary from the given figures (a) and (b)

| (1) (a) Perigynous; (b) Epigynous
(2) (a) Perigynous; (b) Perjgynous
(3) (a) Epigynous; (b) | lypogynous

D. Constant environments Prom
specialization. .
E. Tropical environments are COnsty
' predictable.
Choose the correct answer fro i
m the optiy
below:

(1) A, B and E only
(2) A,B and D only
(3) A,C,DandE only
(4) A and B only

127 A pink flowered Snapdragon plant was

with a red flowered Snapdragon plant. Wi
of phenotype/s is/are expected in the prog®
(1) Only pink flowered plants

(2) Red, Pink as well as white flowered?
(3) Only red flowered plants

(4) (a) Hypogynous; (b) Epigynouso
TS5_English |

@) Red flowered as well as pink flowerelP
[ co

T ' E B
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‘ o are |rpnull-.||u|1\:|'|m cses of biodiversiy 151 1 of endangered s ’
4 9 W apecins wiva released

1
" )
‘ 3 jest L explobtation (1) FOAM _ 3 e
(et I ._‘l'l
‘ A ‘.“.-..limliuu‘l (1) GEAC o (A WOWNY
i
' Aatation O
| Co | abitnt lows 409 frapmentation 130 Aareh List Ui L
3 m !
!\||1_r|ll||l"| ) [PCIR} \ ARTTR
‘ oo the t"'""d“‘“”“ A | A
Y 1% ney o A \ Thack e
th"\ a1 ohly e S
J alternative

)
‘ ll AR and 13 only
; forma af f pene

‘ aq AS amld 1Y only ;
o | i ]
i;‘ WS and Dronly ¥, ' Cronsof P "
( : y )
| \‘\ progeny with
| aateh List] with i.'l}‘ I Cmarett
A (0 List1 vl
| e N 1. Mushroom recessive parent
N, Rhizoptt ™ & . C. CrssoflF m
I, Smut fungus R of Fy

B Listilaga
. progeny with

any of the/gdrents

1. Dread mould

Puccinia
V. Rust fungus

C.

‘ D, A pricus .
Cho 7 “\ or from the options given ey
| Choose the cumclt:{l}wur m pions 5. Sl n!': &
below: W0 ¢
OMOSO!
| (n :\«lu.n-u.c(-i‘ DV chr ™
scts in planit)

) AV, BAIL Gl D4

| (3) A-ILB-IL Cely. Dt
| (@) A-LBAILCHL D-IV

Choose the c.gr}cd answer from the options ziven
below:
@ A-NL, B-LY, €A, D=1
(2) AV, B.-wu‘}' C-11, D<A
3) A B-\IL_‘_CML DV
(@) AL BHEC-IL DAY

black sced color (BB/Bb) is dominant

| over white seed color (bb). In order to find out

| {he genotype of (heblack seed plant, with which
of the following géhbtype will you cross it?

| (1) Bb \0 @ BB/Bb

M 4 :
(3) BB (4) bb
J 19

130 Inaplant,

@)

=2
134 Hind Nalwaysguts DNA molecules ata particular
\ (™ : g int calle anit] snce and it consist
131 In the given ﬁgurfr.!which component has thin point called gecognition sequence Ad LI

l -

| outer walls and highly thickened inner walls? of:
| . (1) 4bp B v
(3) 8bp o 4y obp

o0
v

W0 i
135 Spindle ﬁti{‘" s attach to Kinetochore
chmmmomc‘;"\\ur'mg

(1) Anaphasel (2) Telophase
@ I‘mphag:"’ (4) Metaphase

| 19 \
T - — — — e S £ _ & _ N,
‘ . ’ . . B B n N
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MoTioN NEET 2024 \Gteisrey

Ratany : Section-B (). No. 136 tn i..‘nl_ — -]

136 Match |ist I with List 11 138 Match List I with List 1I

List 1 List 11

List] List 11
5 of Stamens) Ex
‘ A Rohert May 1 Species-Area (Types ( ampley
A, Monoadelphous [, Citny
relationship : g
‘ . Diadelphous e pe
R Alexander von 1. 1ongterm . Polvadelphous N gy
Hamsoldt ceosystem 1. Fpiphyllous v Ching i
‘ experiment using (" hoose the correct answer |'|.,..,l.|_"|_|c
below o

ot door plots

(1) A-L B-IL C-IV. D=1

A=, B=1, C-IV. D-11
(1) A-IV. B-IL C-1. D=1
(4) A-IV. B-L C-II, D-1n1

( Paul Ehrlich 11 Global species
diversity at about
7 million
1. David Tilman IV, Rivet popper

| hapothesis 139 Match List [ with List Il

Choose the comect answer from the options given List 1 List 11

| belos; A. GLUT4 I Hormone
(1) A-L B-l. C-II., D-IV B. Insulin 1. Enzyme

‘ (2) A-IIL B-1V, C-11. D-1 C. Trypsin M. Intercel),
(3) A-IL B-Il, C-.. D-IV ground s

i) A-ll, B-NI, C sy

| (4) A-HI, B-l, C-IV, D-1l D. Collagen IV. Enables
transpory

Choose the correct answer from the of

137 Maich List I with List I
below:

| I_'i'q " List ',' (1) AL, B-III, C-IV, D-I
A. Frederick I.  Genetic code @ AL BV, C-L DI
| il () A-IV,B-l, C-IL, D-III
| B. Francois Jacob  1l. Semi-conservative @) A-l, B-IIL, C-IIL D-IV
| & Jacque mode of DNA
‘ Monod replication Which of the following st?ter.nen.t
€. Har Gobind 1I. Transformation regarding the process lerephcntjon i
4 @ The DNA dependent Dl\.l-t P
\ oo : catalyses polymerization in 5'-
. Meselson & IV. Lac operon as 3’ -5 direction.
| Stahl (2) The DNA dependent DNA p
| ) : W i i catalyses polymerization in 5' -
Choose the correct answer from the options given 3 3 ’
| below: (3) The DNA dependent DNA p

catalyses polymerization in on
that is 3’ —5".

(4) The DNA dependent RNA P
catalyses polymerization in ont
thatis 5’ —3".

| () AL B-UL C-LY, D-b |
(2) AV, B-1, C-11, D-1N1
(3) A-NL B-I, C-1, D-1Y
(4) AU, B-1V, C-1, -1

| TS_l'lninsh | 20
e R
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T — TSEngsw — — — — —
glish | . S

nl ist | with List 11

i “{:1;,1 1 List 11
Ciﬁ‘ic ﬂlﬂd 1. L‘.\'“‘I!las"]
A ele
:‘;l)"“"\ sl Il Mitochondrial
B matrix
i Fk‘-lmﬂ 1.  Intermembranc
: "anﬂ“"" space of
ystem mitochondria
11';010" V. Inner
B S““d ient mitochondrial
membrane
Choose {he correct answer from the OPtions given
r:;m;\-m. -1V, C-1, D-1I
@) A-LV, B-111, C-11, D-I
G A -1, C-111, DIV
@ A-ll, B-l. C-1v, D-111

the step in tricarboxylic acid cycle, which

jdentify i
ve oxidation of substrate.

" does not in
1)) Guccinyl-Co
) Isocitrate —> &

Malic acid = Oxaloacetic acid

d — Malic acid

vol
A —» Succinic acid
-ketoglutaric acid

(3)
“) Succinic aci
_ 1
garcane crop with which of the
nt growth regulators, increases the
increasing the yield? -

143 Spraying su
following pla
length of stem. thus,

(1 Cytokinin

2) Abscisic acid
Auxin

(4) Gibberellin

14 The DNA present in chloroplast is:
(1) Linear, single stranded
(2) . Circular, single stranded
(3) Linear, double stranded
(#) Circular, double stranded

NEET ACHIEVER BATCH

(For Class 12th Pass)
Starting from : 13th & 29th May 2024

145

146

147

Ciiven be
Sintement 1 Ir
RuldisC 2. hence
Statement 1:
very little
cells do not s

In the light oft
el aNSWer

cot
n
2)
3)
@)

which of the fol
hybridizﬂlion invo

QD)
2)
3)
“)

Read the followin

Code wise

low are two statements:

1 l"l |}|5IT|1'-. qome €14 hinda 1o
0y fixation is decrensed
sharw

tg. mesophy N eslls

[n € plan
lee buiriedle

torespiration whi
mlurr:-upir:l'linn

phao heath
how pl
he above st

from the opti
e but Gratement 11 15 false

atemenls, choose the
ons given below:

Giatement [istru

¢ false but gratement [l s true

Gtatement Ii
Both Gtatement I anc
atement [ and St

] Statement Il are true

Both St atement Il are false

are fused in somatic

lowing :
es of plants?

lving two varieti
protoplasts

pollens

Callus

Somatic embryos

g statements and choose the set

of correct statements:

In the members of Pha

A.

B.

Choose the correct answer from the options

eophyceas,

Asexual rcproduction occurs
biflagellate ZOOSpOTes.
Sexual reproduction is by 00g
only.

Stored food is in the forr
which is either mannitol

ments found are chlorophyll

The major pigl
a, c and carotenoids and xanthophylIl.

e cells have a cellulosic wall.
e by gelatinous

usually by
amous method

n of carbohydrates
or laminarin.

Vegetativ
usually covered on the outsid

coating of algin.
given

below:

M
(2)
3)
4)

A, C, D dnd E only
A, B, C and E only
A, B, C and D only
B, C, D and E only
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149

145 In an ccosvstem it the Net Primany Productivity

|[ Zaoology
1851 Match List Fwith List 1z

. Section-A (Q. No. 151 10 'fi:‘\'\.

9
List II
Mallusca
Ctenophora
Osteichthyeg
Hemichorday,

(NPPY of first trophic level is List 1 0]
s chid I
100v (keal m =) oy " swhat wonld be the GPP A. N"""""m‘hf::_] 4
(Gross Primary Preductivity) of the third 1. Radula . UE
trophic level of the same ecosystem? C. Sltlrlmchnrdi.n :::
(1 10x (dovat mC yy-! . Air hiadder | : X
o ee) Choose the correct answer from the npm""‘gi.
(2) --_' - (Aeal W2y 4ot bhelow :
kY

-
1

(3) '—:l‘l"l.'dfﬂf :)."'-
a

[-” x(kcal "'_%137‘_ !(

w

figure: @

r-
(1) Cleistogamous fl

owers showing autogamy-

Identify the corr®dt description about the given

(1) AL, BAIV, C-1 D-1IT

2) AV ll-lt c11, -1

(3) A-IV. Bl C-1IL D1

@ Al B-LOIV. D-111
(s8]

152 Match List | wlfirf List Il :
List I i
A. Non-medicated Iup
B. Copper reIcz:r;;g{; lU{zD
asing
C. Hormone re&ri
D. Implants (g3

below : o
(1) A-IV, B-1 G, D-11I

@) A-lIL BTV, D-II
" (3) AL B C-L DAV
@) A-L B, C-1V, D-II

List
I Multilgaq
1. Progestog
L Lippes fo

Choose the corréct answer from the options g

: scence showing complete 3 ]
\ ) Com;::;:mﬂoresc - 153 Match List 1 wiifi List 11
autogamty. : nce showing 2 LEy ist 11
| \l windml!l@mﬂmﬂ:}?g;r::::"ens - ;" 9 (lf"srton bollwo
2 ell ex ) . : i ottor {
| ﬂ?“ers “”1;3;‘641 flowers showing stamens A o-l annthPf_!I.'} n kDA dehcien
(4) Water polli S B. CrylAb py ;
with mucilagou C. Crylac = L Emphysema
. ’ . Corn borer
| 150 Match List I witpList II_. I D. Enzyme I¥. Co
| List | List o i
‘ A. R:se I.  Twisted aestivation replacementIj
B. Pea [I. Perigynous flower therapy : she i
‘ C. CO“OH ”[. Dl'upc I I ; l. : ChOOSE the con‘é&t a_nswer frﬂm
D. Mango OJV. Marginal placentatiol below : '
| i a 5
Choose the correiCanswer from the options given ) AL B-l@‘C-L D-Il
| below: 0 5 I‘P‘]'l D11l
(1) AV, B-IIERAAL, D1 (2) Al B- eS ?
| @) Al B-IL@SIV, D @) A-l, B-l, GV, DAl
| () A-IL, B-IV, G4l D11 ) 1 C.IL D-IV
| (4) A, B-II, Gulll, D-IV (4) A-IL, B-1, C-1L
: Cor
- - E’_Elghsllffffffifzpffffff_ﬁfflffff
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Lffrffffffififififififixﬂj‘fifif

| el ’“"tﬂ'; 1 List 11
| . :'::;mﬁmn cold 1. .P‘hl'i-'?lt"rffurﬂ
| A- : I:‘l_.;nnznin I1. I l.‘hl".‘.l B
B ridal test 1. Rhmoy ‘II'IITZL
| C. bt oy 1V,  Dustmites
v M ot answer from the options given

L'I'lnn.-ic the €OITE
\ be
(®
| (2)
3
‘ {-i'l

Jow :

i, B, G- DAV
V. B G D-l
i1, BV, G D
o1, BAAIL C-1L DAV
h List11:
List I1

. Effective sedative in
surgery
Cannabis sativa
Crythroxylum
Papaver sonmiferun

| aatch List] wit
g |
| £ st
Cocaine
11.

1L
V.

Heroin
mMorphine
Marijuana

| LfllOt‘SC theco

hc!cl\\' .
| () Al BL C-IL DIV

) AL B-IV,C-L. D-lI
5 AV, BeliL, C-1 D-II
| (3 AL BAIL 1L DIV

| z5 Match List I with List Il :
| List 1

(Sub Phases of
| Prophase I)
Diakinesis

-

List IT

(Specific
characters)

I: Synapto nemal
complex formation

B. Pachytene II. Completion of
terminalisation of
‘ ) chiasmata
‘ C. Zvgotene I1I. Chromosomes
look like thin
\ threads )
D. Leptotene IV. Appearance of
| recombination
| nodules
Choose the correct answer from the options given

‘ below :
(1) A-1L, B-1V, C-1, D-1IDQ
| (2) A-1V, B-l1, C-11, D-1
| (3) A-1V, B-11, C-111, D-1
4) A-1, B-11, C-1V, D-11I

TS English |

NEET ACHIEVER BATCH

| (For Class 12th Pass)
Starting from : 13th & 29th May 2024

rrect answer from the options given

Code wise
Answer Key

-
¢ N

1587 Given helow are two atmtementa
Guatement I The preaence or ahae e, .
is not a relinble indicator of virginits
H'Ill{"ll’l(‘f‘l' I1: I'he [I_\ITII'IT i torn durineg the fest
coitus only

In the light of the above statements. choose

correct answer from the options given belew
(1
(2)
3)
e

the

Gratement [ is true but Statement 11 15 falae
Gaternent [ is false but Statement [1 s true
Both Statement [ and Statement [l are true
Both Statement [ and Statement 11 are false

which one is the correct product of DNA

dependent RNA polymerase to the wiven

template?
3" TAC ATGGCA AATATCCATTCAS’

) S'AUGUACCGUUUAI.I'AGGGAA('HIT
(2) 5"ATGTACCGTTTATAGGTA AGT3’

(A 5* AUGUACCGUUUAUAGGUAAGUS"
@ 5 AUGUAAAGUUUAUAGGUAAGUS3®

159 Match List I with List 11:

List I List II
A. Expiratory I. Expiratory reserve
’ capacity volume + Tidal
volume +
Inspiratory reserve
volume
B. Functional 11. Tidal volume *
residual Expiratory reserve
capacity volume
C. Vital capacity 111. Tidal volume +
Inspiratory reserve
. volume
D. Inspiratory 1V. .Expiratory reserve
capacity volume + Residual

volume

Choose the corr¢ct answer from the options given

below :
(1) A-ll, B-l, C-1V, D-1I
(2) A-l, B-l, C-11, D-1V
(@) A-IlL B-1V, C-1, D-111
(4) A-llL, B-11, C-1V, D-1
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Code wise |
Answer Key |

Match List | with List 112

2 . i g 163 i

| 160' 'Which of ihie futiowlng e Awtalmmirs Listl o [ :l::l: fr'.l.m

disorders? A Pevophvlinan .
1 i : n 1. Saw fish
asthe rravis DN«
‘ A, My n”h(l_“\ta grat * I?. }l'ﬂ‘.r:::r 0 it Angelfish ‘
| B.  Rheumalgid arthritis c, f”‘ ',m?'"' IV. Flying fish |
. D, Evocoe ;

| C. Gout U e lllct{'i‘ifﬂ-"—"""-"“’"ﬁ"m lhcnph"”‘gi\h ‘

¥
D. Hfuscu{hf}[‘l strophy |
E. S.‘?"'-‘*"{"Gj.lrpns Ervthematosus (SLE)
| Choose the hiost appropriate answer from the
| options given below

(n B C &Eonly
\ e

(2) c.D &gl;r“nr"
| ¢ AB & only

A. B &Eonly
' o
\ —

onsider the following §

[C).

tatements :

bhelow :
(1) AV, l’)—l‘('-il. -1 |
(2) A-HI, B-I1L c-1, D1V

(3) AL e, DIV |

. B4, ¢, D1V
@ A-m. 6 ‘

Which nfthﬂiﬂiowing is not a steroid h”'m“nr |
(1) Progesit ne ‘
2) Gi'ucaqo__ _

(3) Cortisol |
) T estosterone

164

i i ist Il :
165 Match List @llh List |

| 161 C o .
'd-nﬁ:‘tﬂ'ecoc o1 . Lis .
| A. Anneli &-‘  inalomaet f-ls' le W [ peptide bond |
B. Pnrifcnﬁl's are p oo A. rpa's . I Ester bon.d

| heln inthes are acécl‘""‘ B. Nucleast il Glycosidic bond |

G R laE" re 'séudocaelomﬂles C. Protease sy : Phosphodiester bond
Plan'hﬂ‘ﬂ'!mlhcs APy y P D. Amylasepw Iv. P ! ) ‘
| B ﬂ; ;;Em\." .ct answer from the options give ‘choosc the correct ansWer fhom! therptonien |

Choose the :
4 o™ below : .
‘ below - - (2} D Ol'lll-}ﬁ’ 0 A-ll, B-1V. C-I, D—IH ‘
| ) Conv A only @ A-V,Bg LD |
‘ (3) B u;]l_\-' (4) A-IV, B‘J]', C-]I[, D‘\f’ . ‘
o) @) AL '?;"- c-1 D |
. [emBﬂfs .
. bB]GWC"Ee two sta . . . : ) :
\ I 1 liﬁ ephron, the descending limb | 166 Match List {ith List Il _— ‘
| Stltemeutl}é . ;m?niril?e""eable to water and List I | 1th chromosome ‘
loop of Henle 15 ; L
‘ ;;me:ble td Electrolytes. it A. Down SS}E'.’H'_'O"W X’ chromosomé
A e mia ~
ey {1 piEte wn;mufdbtt:jrduer B e ¢ ia n. 21 chromosomé \
- us )

| is lined by simple co]umnasrur;;w area for .. p-Thalaseeh {v. 16! chromosom \

epithelium and increases the
rezbsorption.
| In the light &f the above statements, choose the ]
| comrect answér/from the opfions given below :
| U] Statcm%’.{ Lis true but Statement 11 is false
\ (2) Statemet | is false bug Statement 11 is true
(3) Both Statément I and Statement Il are true

(4) Both Statement | and Statement Il are false
TS Evin)

NEET ACHIEVER BATCH

| (For Class 12th Pass)
Starting from : 13th & 29th May 2024

D. Klinefellepg ‘
. i et
Cl A Se ﬂllr: ?ﬁmﬂ answer from the upnonsg |
0o

below :

%) A-ll1,
2) A-1V,
(3) A-l, B-
4) A-ll, B-III,

Qv, c-1, D-1l ‘
' C-ll, D-111

11, c-1il, D1V |
c-1v, D-l |
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Code wise
Answer Key

L r
‘ o The “Ti plasmid™ of Agrobacterfunm tumefacions 171 Which one of the following factors will nog oy
‘ l ;mnd-‘* o the Hardy AVeinherg equilibrinm? Ailecy
("N Jumor inducing plasmid (1) Ciene migration
i 2 : ene pool n
‘ 3 Temperature unlopcndc{“ plasmid (2) ¢ nn%l".“ﬂ pene pfu :
G- ahyibiti L (1) Cienetic recomhinatiodt)
| @) Tumow inhibiting plagmid (B Genetic drift O
‘ (4) Tumer independent pYA&mid gy
o) 172 Match List [ with List 11 0
| Q0 List 1 it 11
q Given pelow are fwo ﬁ‘ﬂ“-‘ll"(iilﬂ s one is labelled A. Pons [ [Provides additional
‘ 160 as Asscrtion A and the pther is labelled as el 461 sy
Biekser R regulates posture
| Assertion A Breast-feeding during initial period cand balance
: rowth is recommended by doctors for B. Hypothalamus . Gpntrols

| of infant £

bringing 2 (rgspiration and

healthy baby. pos

Colostrum contains several antibodies cgastric secretions.

Reason R : . : o) -
| ‘absolutely essential to develpp resistance for the C. Medulla 1. (Connects different
= | baby. (o &) (regions of the
\ new born b3 oy brain
i { the above stitements, choose the s
In the light = S : D. Cercbellum IV. Neuro secretory
| maost appropriatc answer ftom the options given cells
\ below:> butR i Choose the correct answer from the options give
(1) Ais correct but R is not correct. below - o
| ) A is not correct but P&g correct. @) A-lL B-IIL, C-I1. D-1V D

(2) A-IL, B-1, C-1II, D-IV ¢35,
(3) A-IL, B-1II; C-1. D-1V ¢y

‘ @ Both Aand R are corre€t and R is the correct
(4) A-ll, B-1V, C-11, D-I (]

explanation of A. Oy
(4) BothA and R are cofrett but R is NOT the
‘ s C&r:’} 173 The flippers of the Pcngu%ns and Dolphins
the example of the

\
169 Which of the following is not a component of (P Convergent evolutiony;
(2) Divergent evolution (1)

| Fallopian tube? o0 > :
| (1) Infundibulum oM (3) Adaptive rad:z?t{on WO
| b WO (4) Natural selection N
2 oy ; QL)
| (3) Uterine funduse w0 174 Following are the stages of pathway
| (4) Isthmus o :onduction of an action Qotr:ntial through
~ eart:
A. AV bundle
‘ 170 In both sexes of cockroach, a pair of jointed B. Purkinje fibres
‘ filamentous structures called anal cerci are present C. AV node £X)
| on: 0 D. Bundlebranches  «X)
® 8" and 9'" segment (0 E. SAnode (e
‘ @) 11t segment (V) Choose the correct sequencéiof pathway from
) ions given below : % 4]
@) st se (o)) options given
| o gment m (1) B-D-E-C-A (2):E-A-D-B-C
‘ segment rct.l‘ @) E-C-A-D-B (4)i~A-E-C-B-D
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‘ 1785 The following diagram showing restriction sites | 177 W hich of the following “'t‘l'lt-r'm.l,1
in £ ooli cloning vector pRR 122 Find the role of (1) Bio-reaclors are used g, S
‘ A" and *}" penes hacterial cultures ﬂ"te *"»\_I
‘ - i Illl.‘-rl.‘:‘l."l‘l'il have ap o '
ey s an oxy gen delivery S¥stem ! My,
f\-‘:“ " -\‘ 1 i svstem ang r*'ﬂ.-.:"'.
rel S . iy (1) A bio-reactor provige - b
‘ o k oxi conditions for achies ""LtThe,;T_Th“l
3 o b s (1) Most commonly tise hin it ;.-.\
T Y stirring type, “Teacy, M
| S Y L7 \"!
{ 178 Match List T with List I7 -
B List 1 List n
| A. Axoneme . Centrig
(1) The gene “X7 s tor protein involved in B. Cartwheel I Cilia <
rvpfiqntfnq of Plasmid and * 1™ for resistance pattern ~and Mag,
10 antibiotics. C. Crista L Chitomes
‘ () Gene "\ isresponsible for recognition sites D. Satellite v -\Tilnch:.
and *1}7 is responsible for antibiotic Choose the correct answer from the "d_’ia
resistance. el OPlion,
‘ (3) Thegene A7 is responsible for resistance to (1) A-Il, B-1V. C-1. D-11I
‘ antibiotics and *17 for protein involved in (2) A-ll. B-1. C-1V. D-111
the replication of Plasmid. (3) A-IV. B-IL C-II. D-1
| (4) The gene 1" 1s responsible for controlling (& A-IV,B-II, C-III. D-I
| the copy number of the linked DNA and *}~
for protein involved in the replication of | 179  Match List I with List II :
\ Plasmid. List I List 11
\ A. Fibrous joints I.  Adjacem
| 176 Given below are two statements :_one is labelled vertebrae, limiteg
as Assertion A and the other is labelled as h movement
| ReasonR : B. Cartilaginous Il Humerus ang
\ Assertion A : FSH acts upon ovarian follicles in Joints Pectoral gird]e,
| female and Leydig cells in male. rotational
Reason R : Growing ovarian follicles secrete ) movement
| estrogen in female while interstitial cells secrete C. Hinge 1. SKkull, don't
| androgen in male human being. Jjoints allow any
In the light of the above statements, choose the movement
correct answer from the options given below : D. Balland IV. Knee, helpin
‘ (1) Aistrue but R is false socket joints locomotion
(2) Adisfalsebut R is true’ " Choose the correct answer from the options giv
below :
(3) Both A and R are true and R js ¢ :
| T plenaiarald he correct (1) A-Il, B-MII, C-1, D-1V
4 . (2) A-IlI, B-I, C-1V, D-H
‘ (4) Both A and R are true but R is NOT the 3
‘ correct E‘Iplanalion OfA_ { ) A-!V: B-". C-"L D-l
(4) A-L B-lIL, C-I1, D-IV
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I
| -
‘ 40 Given below are some stages of human evolution, 182 rollowing are the stages of cell division
| ‘ Arrange them in correct sequence. (Past 1o A.  CGap 2 phase ‘
Recent) 1.  Cytokinesis o |
| A, Homo habilis a0 €. Synthesis phase , :,: ‘
| p. Homo sapiens ::: ). Karyokinesis Ty |
| C. Homo neanderthalensis i, Gap | phase 0
: 4 ps
‘ y Homo erectus '\:’ Choose the correct qc(‘lu‘_cncc of stages from the |
> l.:c:.nec of human evolution options given below : N |
> S
| Choose the correct SeqRemr = (1) B-D-E-A-C (2) E-C-A-D-B
‘ from the options given below |
A-D-C-B (3) C-E-D-A-B (”) E-B-D-A-C
| (1) C-B-D-A (3) A-D-L= ot |
. ) B-A-D-C .
| "t‘) D-A-C-B fﬁi). 183 Which ofthe followiné& not a natural/traditional |
O contraceptive method?”’
| \
|81 Three types of musc]c{%m given as a, b and c. (1) Lactational amerlosrhea ‘
\ Jdentify the correct “"-'“‘F}:"“E' pairalong with their (® Vaults [~ ‘
| location in human bod%;_f_‘ (3) Coitus interruptus |
\ ﬁ) Periodic abstinence
= |
| 0
184 Match List I with ListfP: |
| fo)} ‘
List I List IT
co
A. Typhoid ' L Fungus
| B. Leishmaniasis 1.  Nematode |
| C. Ringworm IIl. Protozoa |
| Name of muscle/location D. Filariasis 00 1v. Bacteria
\ (1) (a) Skeletal - Bigeps : Choose the correct angwer from the options given |
(b) Involuntary ‘Tntestine below : |
| i : o
| (c) Smooth - He:‘ﬁ:t'. * . (1) A-IIL, B-l, C-1V, @11 |
! i
(2) (a) Involuntary <Nose tip @) AL B-IV, C-II{D-1 |
| (b) Skeletal - Bohé (3 A-LB-IL C-L bav |
| (c) Cardiac - Heart. @) A-IV, B-lI, C-1, D-II ‘
\ (3) (a) Smooth - Toes o
‘ (b) Skeletal - Legs .| 185 Which (_)f'l?w following factors are favourable for |
| () Cardiac - et the formation of oxytiggmoglobin in alveoli?- |
(e 1 L 2 i+ o i
‘ @) (a) Skeletal - Trkg’fzps (1) Low pCO, and High H" concentration \
: 1 (2) Low pCO, and High temperature
| (b) Smooth - Stdriach G) Higl - d |
ig iy
(c) Cardiac - Hé;}rlt _”I pt; an 8 PCOZ ‘
| = (4) . High pO, and Lesser H" concentration
_ < ; . |
T T5 Englishi] — — — — — — — — — —27 — — — — — — — — — :
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Statemony 1 ; Rone
orean where all hlood ce

are produced

‘ Statement I -

‘ Provide micrn CNVironments fi the

NEET 2024

:?l‘rl’iﬂh-" (Q. No. 186 to 200) F
iven below are two eiatements -
marrow s the main lvmphaoid

s inchnding Ivmphoeytes

Both bone marron and thymns

development

Code wise
Answer Key

188  Given below are wo statemenyy |

statement I : The cereby

al he'“l’w
connected by nerve tracy

k““\vn a ®
callosum. "

statement I ¢ The brain stem

Msj
5
medulla oblongata, pons and Cereh "

rllrr,
and maturation o 7. vtes ! .
| yYmphocytes, In the light of the above slmcmenh h
! o lin The i B
nthe light ofthe nl‘m'o.-.-I:awmt*ms.vh:mscﬂwmns! most appropriate answer from ghe aptj i
., 4 ~ — * = - n
ApPPropriate answ or from theoptions givenbelow: below : o
(1) Stateme is cor S ; i
| : alement 1 is correct but Statement 11 js + (1) Statement | is correct by Stay
mcorreet . o . emen
‘ . incorrect.
-
2) 8 is i
( tatement | Is.Incorrect byt Statement 11 js
| correct,

(2) Statement I is incorrect by State

3) B correct. *
incorrect. ) % (4) Both Statement [ and Slatemm" -
‘ incorrect. :
| 187  Match List I with Lis¢ 1«
\ Ll o 189 Match List I with List I1 :
| A. Pwave - L. Heart muscles are List 1 List Ip
\ clectrical'ly silent. Al Unicellular glandular 1. S"’”""’Yglands
| B. QRS complex 1. Depolarisation of spithelinm
| ventricles, B. Compound epithelium 11, Pancreas
C. Twave III. Depolarisation of C. Multicellular * L. Goblet cells of

| atria. glandular epithelium alimentary capy)
D. T-Pgap IV. Repolarisation of D. Endocrine glandular

ventricles.
| Choose the correct answer
| below -

| (1) A-lL, B-111, C-I, Dy -

%

| Q Ay, B-Il, C.1, Dy

‘ (3) A, B, cay, D-11

‘ @) A, B, 1y, D-|

| TS_English ]

NEET ACHIEVER BATCH

| (For Class 12th Pass)
Starting from : 13th & 29th May 2024

from the options given

IV. Moist surface of

epithelium buccal cavity

Choose the correct answer fro
below :

m the options given
“) A-l, B-1v, C-1, D-1l
(2) A-l, B, C-1V, D-111
3) A-Il, B, C-1I, D-1v

(4) A-lv, B-1II, C-1, D-11

= [ Contd...
el o - ' 4 _
Get Scholarship on the basis of NEET 2024 Marks
Fee After Scholarship Fee After_SchoIarship
NEET Marks for Offline Classroom for Online Live Classroom
600+ FREE ONLINE LIVE
551-600 29,000 FREE
501-550 43,500
451-500 58,000 Sip o il
d get
401-450 65,250 gg%gsechli)rl)a(r)ship
301-400 72,500
201-300 87,000
151-200 1,01,500
101-150 1,16000 ;
Below 100 | Free MOST Exam Scan QR Code




wch pist] with List 11 related to digestive cystem
aln
N ekroach
n| L‘ﬂk‘-l -
{ i
l]::c ructures uesed 1. Gizzand
A or storing of food. -
zing ol 6-8 Blind . n. ' i
B : !“.|||.“- ot innvlinn of Chec
m . g
W ont and midgut. . .
m‘npll' 100-150 yellow N Malpighian
el i - ubules
- ~.1'|mlr|..‘\| thin ) {
:"I-\m-:n!.u at junction ol
e K
i yvindgut.
midgut and hindg . B

D The structures used
© for grind
¢ corre

ing the food.

ot answer from the options given

(.‘hoﬂi-: [ th

low & )
:T{ A-V. B-111L C-IL D-1

AL, B-IL C-IV. D

>
i;; A1V, B-IL C-11L. DA
&) A B CL D-1V

List 11 \
1. . Lower invertebrates
II.” Fish & Amphibia
[1I. Birds & Reptiles

Match List I with List 11
List I
A. Mesozoic Era
B. Proterozoic Era

c. Cenozoic Era
IV. Mammals

D. paleozoic Era ) )
Choose the correct answer from the options given

below :

) A-L B-11, C-1V, D-11I
(2) A-IL, B-1, C-1V, D-1l
(3) A-11, B-1. C-11, D-IV
(4) A-lIL, B-L, C-11, D-1V

91

Given below are two statements :

Statement I : Mitochondria and chloroplasts are
both double membrane bound organelles.
Statement II : Inner membrane of mitochondria
is relatively less permeable, as compared to
chloroplast.

Inthelightofthe above statements, choose the most
appropriate answer from theoptions givenbelow:
(1) Statement I is correct but Statement 11 is
incorrect.

Statement | is incorrect but Statement Il is
correct. |

Both Statement I and Statement Il are cor :
Both Statement I and Statement 11 are
incorrect.

192

@)

3)
(4)

fTsiE“gJisl'Ll B

NEET ACHIEVER BATCH

| (For Class 12th Pass)
Starting from : 13th & 29th May 2024

191

O
A
n
o
.
I,

A4 per ATICOY Rlaewl gromping aystem, the |
group of father i< )
Their reapectn

Code wise
Answer Key

mether 11 A andd ehild #

A ALALES o1 T Rar

AR S AT
(AT LAI B AL
AN itA 1T

A 21T 7 A
AN A 7 A

Choose the most appropriate answer from the
options given below ¢

(1) C & B only (2y D& FE only
(3) Aonly (4y B only
194 Match List I with List I1:
List 1 List 1T
A. Exophthalmic I. FExcess secretion of
goiter cortisol, moon face &

B. Acromegaly

hyperzlycemia

Il. Hypo-secretion
of thyroid hormone
and stunted growth.

C. Cushing’s 1. Hyper secretion
syndrome of thyroid hormone &
protruding eye balls.
IV. Excessive secretion

D. Cretinism

of growth hormone.

Choose the correct answer from the options given
below : '

(¢))
2)
3)
@)

A-111, B-1V, C-11. D-1
A-111, B-1V, C-1, D-11
A-l, B-111, C-1I, D-1V
A-1V, B-11, C-1, D-1I1

195 Match List I with List 11:

List 1
A. RNA polymerase 111 I.

List 11
snRNPs

B. Termination of

transcription 1.
C. Splicing of Exons
D. TATA box

Promotor
Rho factor
SnRNAs, tRNA

111
V.

Choose the correct answer from the options given
below :

)

A-LIL, B-1V, C-1, D-1

(2) A-1V, B-lll, C-1, D-11
3) A-lL, B-1V, C-1. D-111

4)  A-IlL, B-11, C-1V, D-1
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198 Choosc the correey stap
f

19 Identify the commect option (A). (I3). (). (D) with
tvpnniiup_irl\ln rm‘(lullm}. :“’cnt
C

FESPect to spermatogencesis

(1) Loop of Henle ?ﬁu\: o
runs deep into “;jfdun: ]M"'I
3 by

‘ iy i i {2) Juxta "“"f"”nr}sne h
: - .  H cortical nephrorgy NS "
L
| ) a g (1) Juxta mvd‘ullﬂn.{"{éphr {
I (1]
;l o d columns of f‘lL‘rrr]“‘ ULEYS i
e . ) i "
| I | . () Renal corpuscle ﬁf'jr“h
g i
| Andrmysens< I'actors lies in the oiter portion an:;:lu”a’
®rg,
| Formation of spermatids o8] o)
atn - (m 199  Given below are twor
‘ Q0 ' alt _ﬂ.l‘]T(‘.‘f'l'lL‘nh ;
0 Statement [ ; (iﬂué{‘g -

i s Mpetiy;
principle states that K/ close] Ve,

competing for differtdr - "’ﬁur} Telay,,
5t o

(1) FSH. Sentoli cells, I.ce%}g cells,
indefinitely. © can

spermatogencesis. n‘\:l

(2) ICSH. Levdig cells. Skrioli cells,
spermatogenesis,

"-\
Statement 11 : According tq Gia
5 sia 15p"
duringcompetition, the irm:'rim-“_]-”:za P
This may be true ifres . ool
v toyirees are limy,.

(3) FSH. Lexdig cells. Sertoli cells.
spermiogenesis a0

In the light of the abgve statemen,
correct answer from the options gi

(1) Statement I is true but Statem

'S
Ven h

Lo
(4) ICSH. Interstitial cells;-Leydig cells, G
At 8 nl n

spermiogenesis. Fed) (2) Statement is f'%]%’: but Statemen, 1
(]
Fu (3) Both Statement{l-and Statemen, Iy

(4) Both Statement I and Starernemnm

o0
280 Regarding catalytic Cycle of an enzym,
select the correct sequiential steps :

197 The following are the statements about non-
chordates : P
Pharvnx is perforatedby gill slits.
’ o _
A. Substrate enzyq‘g_’complcx formatig
s

Notochord is absent.
B. Free enzyme qu\ to bind with »

substrate. ™~
C. Release of products.
D. Chemical bonds of the substrate brok
E. Substrate bind!_%; to aqtive site.
Choose the correct answer from the options,
below : 0
(1) B,ACD.E ;"5"
(2) E,D,C,BA N

55
Central nervous s_vstc-{r_!'r’:s dorsal.

L

Heart is dorsal if present.

Post anal 1ail is absent.

MO N w

| Choose the most appropriate answer from the
o0
0
#) B.D&Eonly (p
@) B.C&Donly O

[14]

options given below :

3) A&Conly g
(3) A&Conly EE (3) EAD,CB |~
(4) A,B&Donly “) A E B,D,C
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